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1. (a) When a function is overloaded, there are multiple definitions of the

functions. What makes the various definitions of the function different

from each other?

(b) Which header file(s) wiltbe essentiallv required to be included to execute

the following C++ code?

i
int Rno = 465;

char SName[ ]= 'AjaY Bhaskar';
cout<<setw (6 ) <<Rno<<setw (.2a <<Sname<<endl;

)

(c) Rewrite the following code after remonng syntactical error(s), if any.

Underline each correction made.

#incluCe<iostream.h>
struct Screen

{

int C, R;

)

void ShowPoint (Screen P)

{

cout<<P. C, P. R<<enCi;

)

voiC main ( )

{

Screen porntl = (5 , 3);
ShowPoin: (Pointl);
Screen Point2 = Pointl;
C. /Pointl 2;

Poincl.3. = Pointl.R + 2;

)
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d. Find the output of the following program:

#include<iostream. h>

void Change,theContent (int i-::' L int Count )

{

^' 
' ' - lA I nl1rrLU] = Arr[COUnt C L-;

i
void main ( )

{

int A[ ] = iL, 2, 3], B[ 1 = {2, ::, 40, 50}, Ci I = {100, 200};

Crar-getheContent (A, 3l ;

-;---^ts1^^^,\.-rloirgeurrel-Ofltent (8, HI ; 4-

-1- ^^-^Ll-.^.^-nl-an1- //- ? \Ll.L3.1L(] CLILe\.-Ui,LCLru \U, Z I i

f cr (int L - 0; i, <3 ; L++ ) cc .^--<<A iLl {{'#' ,'

<,i ; L+*; :: -'- .ts [L] <<'#' ;

O, J .n. Tr.rt,^_ _ _/,-ti.1 _-t4,.w, L \.i! L,1',-,/!---.'LL!] 1\ 1l ,

(e) Give the output of the following prcqram (Assuming that all required

header files are included in the pro:ram):

voiC main ( )

{

cout<<endl;

for (int L =

cout<<enC-l ;

cout<<endI ,'

char a[ ] -
int i;
:iTt1 tl.
!v! \f - 

! t

{

if (, Ii] >=97

"Exam=2011 ?-':_=-,-." ;

taiil!='\01;i--

&& aLrl <= :-_

P.T.O.
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aIi]--;
else if (a til
aIi] = aIi
else if aIi]
dLrl -r- JZ.t

el se

^ rl I t4+, "dlrl f 1

)

nrrt-c /:\.yuuJ \u/ ,

i

>= 'A' && aIif
tl-)-.1 r

>= 'A' && a[.-

/q/)

t- |

Study the following Program and

# include<iostream. h>

# inc lude<stdl ib .'h>

const int LIMTT = 4;

void main( )

{

ranComize ( ) ;
r 

-l 
l)^a hf - .

IllU ! Vllf uu,

Points = 100 + ramdom(

for(intP=PoinLs;P
cout<<P<<'#' ;

cout<<endl:

)

i. 1,03#702#101#100#

iii. 104#103#102#101#

(a) What is copy constructor and

with an examPle.

2. Illustrate

".__='__-=1iJ2#103#

--l=--l=101#100
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(c) Define a class sports in C++ with foilowing description:
Private rnernbers:
. SCode of type trong

. SNarne of type character arra\- Siring)

. Fees of type integer
o Duration of type integer

Public members :

r Constructor to assign initial r-a-*es of scode as 1001, sName as
"Cricket", Fees as S00, I)uratio: -_-r

o f, function NewSports( ) whic:. .-.rrr.s user to enter SCode, SName
and Duration.

Also assign the values

SName Fees

Table Tennis 2000

Swimming 4000

Football 3000

(b) Answer the questions (i) and (ii) after going through the following:
class mammal

{

public:

char category eA1 ;

mammal (char xname [ ] ) / t _.^:_:cion1
{

strcpy (category, xname)

)

nrdrfirLa.l (manLr,ral &t ) ;

2

/ / f'*:-r:-on 2

].

(i) Create an object, such that it in'okes functionl.
(ii) 1zt7rt,* complete definition for f,;:ction2.

4:,
l

to Fees as p.: :.r,e foliowing conditions :._-t
esj

P.T.O.
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void INPUT (

void ourPUT (

protected:
int S;

publ ic :

1.

class
{

int T;

protected:
int U;

public:
void INDATA(int,
void OUTDATA( );

class STATE: Public WO

int M;

public:
void DISPLAY (void) ;

);
(i) Name the base class and

(ii) Name the data member(s) t

(iii) Name the member fun

objects of class STATE.

(iv) Is the member function

91
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3. (a) Consider the

struct Employee

{

int ECode;

char Ename l20j;
j;
Write a function to accept an ernployee arrav and perform Bubble soi r

in the increasing order of ECode.
(b) An affay MATtl0l[1t] it stored in the memory row wise with eacr,

element occupying 4 bytes of memory. Find out the base address an( r

the address of elementMAT[51[lr-t1, if the location of MAT[1]lal is storer I

at the address 2000.

(c) Write a function in C++ which accepts an intege r affayand its size a,
arguments and replaces element-' having odd values with thrice its valur
and elements having even values with twice its values. {
Example : if an array of five elements initially contains the elements as

3, 4, 5, -1.6, g

(d) Evaluate the following postfix expression using a stack and show the
contents of the stack after each operation

4. (a) Observe the program segment given below carefully and fill the blanks
marked in statement 1 using seekg( ) or seekp( ) functions for performing
the required task.

100 40 8 +20 10 - + +

#incluCe<fstream. h>
class FILE

{

-rnL i\um,.

char Name [30] ;

I

r
public:
voiC GO_Record(int);
].

91
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3. (a) Consider the

#incluCe<fstream. h>
class FfLE

{

rnt Num;

char Name l30l ;

publfc:
void GO_Record(int);

struct Employee

{

int ECode;

char Ename 1201,
j;
Write a function to accept an enlployee array and perform Bubble sol r

in the increasing order of ECode.
(b) An artay MATtl0l[1i] it stored in the memory row wise with eacl,

element occupying 4 bytes of memory. Find out the base address an( r

the address of elementMAT[S][lr_t], if the location of MAT[1]lal is store< I

at the address 2000.

(c) Write a function in C++ which accepts an intege r affayand its size a
arguments and replaces element-* having odd values with thrice its valur
and elements having even values with twice its values.
ExamPle : if an array of five elements initially contains the elements as

3, 4, 5,16,9
(d) Evaluate the following postfix expression using a stack and show the

contents of the stack after 
"u.fi 

.-rperation

100 40 8 +20 10 - + *
(a) Observe the program segment 

=r-en 
below carefully and fill the blanks

marked in statement 1 using seek*( ) or seekp( ) functions for performing
the required task.

t

4.
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//functi-on
VoId t L]-r

{

FILE Rec;

fstream Flle;
File. open { " -:lOC( . i=-- ", ios::binar. -:s::in)

File.reai :a---- :,--.=- .izeofr:=.- :

COUL<<Ke-,-,-: -:^._ ...-=<<enc i

Fi, e. clcse i

)

&) \rvrite a function to ccu:.: a:rd print the :,un'rber of complete words as

"to" and "are" storeo ::r : rert iile "ESS--i'r T\T".
(c) Write a function in C-- to displar .i'e;: i:.,m the L-rinarr. fiie

to reac, l.:h record from the file
GO_F.rcorC (int N)

l

l

l

l

l

l

l

I

I

i

I

I

I

I

"PRODUCT.DAT' 1'.-:.,r,se rroduct price -s ::-r:. ::.:: T l - -r_-S.-ln-:-r,.i

thatbinarv file is ctnr:-:"1:r: rhe objec:. --: ::-.. :-.--:-.,,:.: :-*.. a
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:

2
5.

cout<<PRODUCT-name;

cout<<PRODUCT-Price;

)

int ret-Price ( )

retui:n PRODUCTi)r- .= ;

)

i;
(a) what are DDL and DMI- commands? Give one example of each.

(b) Consider the following tables stationary and consumer. write sQL

commands for the statement (i) to (iv).

Table: Statianary

Price

DPOl Dot Pen AtsC 10

PI.O2 Pencil X\Z 6

ERO5 Eraser \r,7 7

C{M 5

CPO2 Cel Pen 15

Table: WEon@- %o,
C-ID ConsumerName Aidress S*ID

01 Good Learner Deihi PLOl

06 Write Well \1'-;mbai GPO2

1,2 Topper Dehi DPOl

15 Write & Draw Deihi PLO2

1,6 Motivation Bangalore PLOl

(i)

(ii)

To display the details of those consumers whose address is Delhi'

To display the details of Stationary whose Price is in the range of

8 to 15. (Both value included

o
J91
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(iii) To display the ConsumerName, Address from Tabre Consumer and

::Hff, iltrice 
from tabte starionan,, n.ith their coruesponding

(iv) yo increase the price of all stationan,bl-l
(c) Write the output for SeL queries (v) to (r-ii,:

(v) SELECT DISTINCT Address FROM Consu-_:rer;
(vi) 5g1pCT Company, MAX(price), A,{I\,1r"._ , 

'cOUNT(N 

fromstationan. GRoUp By Companr.; 
vrr r \o/ rro

(vii) sE LECT Cons um er. ConsumerNa m e. 
-* ;a iin an.. sta tionar\rName,Stationarv.price FROh,i Statio:la:_,-. (_ ^-._ 

^:' ^ .r

Consumer.s_ID = stationar,,_;;," 
\-onsumer if FIERE

(viii) Select Stationan,_\ame, price*3 r----:- S:-: * -::;.l\/hai do r-ou unclerstantj L,r.the ler;-> .___,_-_ ,_. . - _* _: r
Ke,rzof a rerationr :-:r: r0r€l$11

(a). Verifythe tbllou-ine algebraically 
:

iA'+ Br) ta + B) =A, B _ A. B,
(b) Draw a logical circuit cliagram for the -. -_ .., :- : Rn^r^^* n-._-

A . (n + C,) 
-- -a1r{51!{r --l* Boolean Expressjcn :

t' y:H[l::::enr Canonicar sum oi:: ,. - :' ::i rhe rorior,-i.gprodi.rcr

F(X, Y, Z) = n(7, 3, t,l,
(d) ffF(X,Y,Z,\\-t- I,i_r, l,-r.+, j,7,g,1_ -_ -:

wrhat rvas the role of -{RP-{-\ET in the rr - ::: -:=: \cirr-ork?Define the term Banuir...j,-lth, Give an) . .-.. lla...r,r 
icii5.lVrite the tuil form ci rhe fr_,1]owing 

:i. FTP

ii. NTP

(d)

"l
L

2

7. (a)

&)
(c)
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drawings (in meters) is as follorvs :

Expectednumberofcomputersirreachbuildingisasfollows:

(d) ,,Vidya for A11,, is an educational NGo.It is setting up its new camPus

at Jaipur for its web based activitres. The camPus has four buildings as

shown in diagram below :

Center to center distancesbetween variousbuildings as Per architectural

drar,,inss (in meters) is as follou's :

Main Building 15

Resource Building 25

Training Building 250

Accounts Building 10

-rgg.rt a cable layout of connection between the buildings"

P.T.O"
91

ri)

11

Main Building to Resource Building 120 m

40m

135 m
Main Building to Training Building

Main Building to Accounts Building

125 mResource Building to Training Building

45mResource Building to Accounts Building

Training Building to Accounts Building 110 m

I



(ii) Suggest the most suitable place (i.e. building) to house the server

of this NGO. Also provide a suitable reason for your suggestion.

(iii) Suggest the placement of the folior,r,ing devices with justification :

a. Repeater

b. Hub/Switch

(iv) The I{GO is planning to connect its International office situated in

Delhi. Which out of follor,r'ing wired communication links, r,vill

yolr suggest for verv high speed connectit,itv?

a. Telephone Analog Line

b. Optical Fibre

c. Ethernet Cable

(e) What are cookies?

(0 What do vou mean bv FLOSST
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